#BR :1/2,500

BAWRZDIESE |AEsboRE
HRFAEES 132207A661112002

[GERIES B ZA
FriEh LT EREF EET
o B K

X i & A I
[ ] twx=zaxs
- IRRERNERRE (APERSES) —
BEIZEBD HAM00KN/ mERBZ HR KL
HHEEIMERR DR
[ ] zhesiors

B RR X [ F FR<

ITEFDHADRESDERT

[TEFDHORSSI—ERIZHE

Ok

TERE

1/2 500

1/ 2 ERRE



TEFOAODKESS—E

(BEEE) BRERDIEE |2ERthORHE
= 3 N =[- N =
1. Tnawﬁﬁ@ﬁiﬁ‘]y’m{iﬁﬁﬁ‘“*u'35’ EMABTES  |132207A661112002
jJG)Bﬁi%E(DEEEﬁ éhf:":‘ﬁﬂ@ﬁiﬁﬂ_imb—CL %, N e —
(A) BEI= LB AH100N/MZEBZZREBDBED 51 DBRAEKN/ ) (E) #HEEH3ImEREZ B RIBDHEIED 5 DBRAERN/ 1) 2 TONENIRRRBNISHOREENT S ik WERA
= ) Mz 5K RAMBKN/m Em A 3mZEEZ DX & mAMBKN/m EHEES ZHT-Y . LYt = . 2
B) (WD HHREM= AT SBEDLREDESm) F) N S HRED - AT 5BED L RS DEE(m) Eﬁggfgl’_ég?gi'ﬂﬂé%if_ﬁ@ mﬂ FTEHh LT #RE AT
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(A) (B) (©) (D) (B) (F (G) (H) (A) (B) (C) (D) (BE) (F) (G) (H)
(1) - - 82.3 1.0 - - 94 1.9 - - 82.3 1.0 - - 9.4 1.9
( 2) 105.9 1.0 100.0 1.0 - - 10.9 2.2 105.9 1.0 96.9 1.0 - - 10.9 2.2
( 3) 119.7 1.0 100.0 1.0 - - 13.6 2.7 119.7 1.0 97.4 1.0 - - 13.6 2.7
( 4) 119.7 1.0 100.0 1.0 - - 13.6 2.7 119.7 1.0 96.3 1.0 - - 13.6 2.7
(5) - - 89.8 1.0 - - 9.8 1.9 - - 89.8 1.0 - - 9.8 1.9
( 6) 127.1 1.0 99.9 1.0 - - 12.4 2.5 1271 1.0 99.2 1.0 - - 12.4 25
( 7) 127.1 1.0 99.5 1.0 - - 12.4 2.5 152.2 1.0 96.9 1.0 15.7 3.1 15.2 3.0
( 8) 156.2 1.0 99.8 1.0 15.5 3.1 15.0 3.0 156.2 1.0 96.9 1.0 15.5 3.1 15.0 3.0
( 9) 156.2 1.0 99.8 1.0 - - 1.2 2.2 156.2 1.0 96.8 1.0 - - 1.2 2.2
( 10) 146.1 1.0 99.7 1.0 - - 14.2 2.8 146.1 1.0 96.9 1.0 - - 14.2 2.8
( 1) 145.7 1.0 99.7 1.0 15.3 3.0 14.9 3.0 145.7 1.0 96.8 1.0 15.3 3.0 14.2 2.8
( 12) 129.8 1.0 99.0 1.0 - - 1.8 2.3 129.8 1.0 96.8 1.0 - - 11.8 2.3
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